Purebred Arabian Maiden Conditions 50
The Hamilton & Partners Restricted Maiden Stakes

June 16 2002

For maiden Purebred Arabians, 4 yrs old and upwards. Restricted as defined in the definitions. SEVEN FURLONGS or thereabouts.

£ 370				7F Turf
1 <sup>st</sup> 200	2 <sup>nd</sup> 100 3 <sup>rd</sup> 70			
1	MOUSSE D'EAU (FR) (2) (90) (Miss S G Kelleway)	Mr E R Oertel	4	10-0 Miss S G Kelleway
<b>2</b> 5	CS JAMEEL (1) (0) (Mr A J Brunton)	Mr M D Brunton	4	10-0 Mr P Collington
<b>3</b> 24	AMERICAN LADY (5) (0) (Miss C J Legg)	Miss C J Legg	5	9-10 Mr A S T Holdsworth
<b>4</b> 2	DAMASCUS D'AZAT (FR) (4) (Mrs J Candlish)	(0) Mrs P Beardmore	5	10-4 <b>Mr D T Weeks (5)</b>
5 4	BE'ER SHEVA (6) (0) (Mr R Collier)	Mr R Collier	5	10-4 Miss S Kerr (5)
S	ZAMEL (3) (70) (Mr W M Smith)	Mrs W Smith	4	10-0 Mr S A Walker

Off at: 14:00 Track: Firm Time(s): 01:42:50

**1st Owner:** Mr E R Oertel **Breeder:** E.A.R.L. Du Moulin

NON-RUNNERS : ZAMEL

June 16 2002

For Anglo & Part Bred Arabians, 4 yrs old and upwards. ONE MILE or thereabouts.

£ 370		8F Turf
1 <sup>St</sup> 200	2 <sup>nd</sup> 100 3 <sup>rd</sup> 70	
1	PRUSSIAN LADY (5) (111) (Mr J H Wilson)	10 10-3 Mr S A Walker Mr J H Wilson
<b>2</b> 3	ROSILIS (FR) (3) (122) (Miss S G Kelleway)	11 11-0 <b>Miss S G Kelleway</b> <i>Mr E R Oertel</i>
<b>3</b> dis	INSPECTOR MORSE (2) (93) (Mrs J Candlish)	10 9-0 <b>Mr P Collington</b> <i>Mr T J Day</i>
S	RUSHING (1) (104) (Mrs J Candlish)	7 10-2 <b>Mr D T Weeks (5)</b> The New Generation Racing Club
UR	CALL ME RISKY (4) (118) (Miss S G Kelleway)	5 10-10 <b>Miss G M Kelleway</b> <i>Miss S G Kelleway</i>

Off at: 14:35 Track: Firm Time(s): 01:50:50

**1st Owner:** Mr J H Wilson **Breeder:** Mr J H Wilson

**NON-RUNNERS: RUSHING** 

## The B & B Roadworks Limited Handicap Stakes

June 16 2002

For Purebred Arabians, 4 yrs old and upwards, rated 0 - 75. ONE MILE, FOUR FURLONGS or thereabouts.

£ 370				12F Turf
1 <sup>St</sup> 200	2 <sup>nd</sup> 100 3 <sup>rd</sup> 70			
1	ANWAR WAHID (4) (72) (Miss G Ward)	Miss G Ward	8	10-4 Mr S Harrison (5)
0 0/4	,		_	
<b>2</b> 3/4	ANGANATE SAFINAT (FR) ( (Mr W M Smith)	(tt) (2) (75) Mrs W Smith	6	10-7 Mr S A Walker
<b>3</b> 3	CICERONE (3) (66) (Mr A J Brunton)	Mr M D Brunton	8	9-12 Mr P Collington
<b>4</b> 6	HAMAC (FR) (1) (70) (Miss S G Kelleway)	Miss S G Kelleway	4	10-2 Miss S G Kelleway

Off at: 15:10 Track: Firm Time(s): 03:04:90

**1st Owner:** Miss G Ward **Breeder:** Mrs L E Hartley

FOURTH RACE Fakenham

June 16 2002

Purebred Arabian 0-40/45

## The Jebel Ali Racing Club (Series Qualifier) Limted Handicap Stakes

For Purebred Arabians, 4 yrs old and upwards, rated 0 - 40. TWO MILES or thereabouts.

16F Turf £ 1,060 1<sup>st</sup> 600 2<sup>nd</sup> 300 3<sup>rd</sup> 100 460 1 MOUNSHAKER (bl) (2) (30) 6 9-11 Mr A S T Holdsworth (Miss C J Legg) Mr E J Legg WFA IMOGEN (vis) (3) (40) **2** nk 5 10-7 Miss G M Kelleway (Miss S G Kelleway) Mr K A Al Ghurair **3** 2 KAHRABAIYA (4) (35) 5 10-2 Mr N G Bell (5) (Mrs J Candlish) Mr N G Bell VADAVARS NADIA (1) (28) 48 9 9-9 Mr S A Jones (5) (Mr S A Jones) Mr S A Jones

Off at: 15:45 Track: Firm Time(s): 04:41:50

1st Owner: Mr E J Legg
Breeder: Mr E & Miss C Legg

54

## Purebred Arabian Conditions The Stud Farm Fencing Stakes

55

June 16 2002

2 <sup>nd</sup> 100 3 <sup>rd</sup> 70		
NADJEL (FR) (bl) (1) (111	1)	7 9-13 Miss E-J Jones
(Mrs G M Duffield)	H.H. Sheikh Hamda	an Bin R Al Maktoum
ATHLAS (FR) (2) (103)		5 9-11 Mr N J Tinkler
(Mrs G M Duffield)	H.H. Sheikh Hamda	an Bin R Al Maktoum
FALCON AL MAURY (FR)	(tt) (4) (0)	5 9-11 Mr S A Walker
(Mr W M Smith)	H.H. Sheikh Mohar	mmed Bin R Al Maktoum
IAMYS DE CARRERE (FR)	(3) (95)	6 9-11 Miss S G Kelleway
(Miss S G Kelleway)	Mr K A Al Ghurair	
	(Mrs G M Duffield) ATHLAS (FR) (2) (103) (Mrs G M Duffield) FALCON AL MAURY (FR) (Mr W M Smith) IAMYS DE CARRERE (FR)	(Mrs G M Duffield)  ATHLAS (FR) (2) (103) (Mrs G M Duffield)  FALCON AL MAURY (FR) (tt) (4) (0) (Mr W M Smith)  H.H. Sheikh Hamd H.H. Sheikh Mohal

**Off at:** 16:20 **Track:** Firm **Time(s):** 03:44:80

1st Owner: H.H. Sheikh Hamdan Bin R Al Maktoum

Breeder: M. J D Kirmaier

56

June 16 2002

For maiden Purebred Arabians, 4 yrs old and upwards. ONE MILE or thereabouts.

£ 370		8F Turf
1 <sup>st</sup> 200	2 <sup>nd</sup> 100 3 <sup>rd</sup> 70	
1	EXPRESSO (5) (0)	6 10-4 Mr P Collington
	(Mrs J Candlish)	The New Generation Racing Club
<b>2</b> 1/2	DJEL LOTOIS (FR) (2) (0)	5 10-4 Mr S A Walker
	(Mr W M Smith)	H.H. Sheikh Mohammed Bin R Al Maktoum
<b>3</b> 2 1/2	MAWARED (4)(0)	4 10-0 Mr S Harrison
	(Mr W M Smith)	H.H. Sheikh Hamdan Bin R Al Maktoum
<b>4</b> 2	WAYWOOD JAIL BIRD (1) (0)	5 10-4 Mr A S T Holdsworth
	(Mrs G S Moore)	The Old Lags Partnership
<b>5</b> 10	CRUSADER JUNIOR (6) (0)	5 10-4 Miss H E Jensen (5)
	(Miss S G Kelleway)	Mr K A Al Ghurair
S	CLARUS DE NULVI (ITY) (3) (0	4 10-0
	(Mr W M Smith)	H.H. Sheikh Mohammed Bin R Al Maktoum

**Off at:** 16:55 **Track:** Firm **Time(s):** 01:58:60

1st Owner: The New Generation Racing Club

Breeder: Mrs V A Bunting

NON-RUNNERS: CLARUS DE NULVI (ITY)

## The Rossdale and Partners Limited Handicap Stakes

June 16 2002

For Purebred Arabians, 4 yrs old and upwards, rated 0 - 60. SEVEN FURLONGS or thereabouts.

£ 370		7F Turf
1 <sup>st</sup> 200	2 <sup>nd</sup> 100 3 <sup>rd</sup> 70	
1	POKROVKA (NL) (4) (40) (Mr A J Brunton)	9 9-4 Miss E-J Jones Mr M D Brunton
<b>2</b> 1	MAXIMILLION (5) (50) (Mrs G Haynes)	5 10-0 <b>Miss C Tarratt (5)</b> The Gap Racing Partnership
<b>3</b> 1 1/2	RABAH (1) (57) (Mr W M Smith)	5 10-7 <b>Mr S A Walker</b> H.H. Sheikh Hamdan Bin R Al Maktoum
<b>4</b> 2 1/2	BENIKA (3) (40) (Mrs J Candlish)	5 9-4 <b>Mr P Collington</b> The Jago Partnership
<b>5</b> 1	SHAHWAN (2) (48) (Mr R Collier)	11 9-12 <b>Miss S Kerr (5)</b> <i>Mr R Collier</i>

**Off at:** 17:30 **Track:** Firm **Time(s):** 01:43:10

**1st Owner:** Mr M D Brunton **Breeder:** Tersk Stud